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1. (a) Discuss McKinsey Approach of Value Based Management. 7
OR

Explain discounted cash flow approach of corporate valuation.

(b) Attempt any two : 4
(i) Need for corporate valuation.
(i)  What is the value of firm according to discounted cash flow approach ?
(11) Explain key drivers of Free Cash Flow (FCF).
(iv) What is adjusted book value ?

(c) Answer the following : 3
(1)  What is minimum agency cost ?
(1)) Define corporate valuation.

(i) Define operating free cash flow.

2. (a) Explain Lintner’s model of dividend policy. 7
OR
Explain types of dividend policy.
(b) Attempt any two : 4
(1)  What is dividend pay-out ratio ?
(1)  Why firm pays dividend ?
(11) Explain importance of dividend policy.
(iv) Explain guidelines of bonus issue.
(c) Answer the following : 3
(i)  Define dividend.
(i1) List factors affecting dividend policy.
(1) What is stock split ?
AH-106 4



3. (a) Explain effect of inflation on Asset Revaluation. 7
OR

Explain Ratio Analysis as a tool for prediction of sickness.

(b) Attempt any two : 4
(1)  Give Argent model of prediction of sickness.
(1))  Explain causes of industrial sickness.
(i11)) State importance of inflation in capital budgeting.
(iv) Explain inflation and firm value.

(c) Answer the following : 3
(i)  Define Industrial Sickness.
(i1)  State Altman model of prediction of sickness.

(ii1)) Give four “R” in diagnostic study to set-up sick unit.

4. (a) Explain various techniques of corporate restructuring. 7
OR
Discuss leveraged buy-out.
(b) Attempt any two : 4

(1)  List categories of mergers and acquisition.
(i)  State economic rationale for merges.
(ii1)) What is sell-off ?
(iv) What is demerger ?
(c) Answer the following : 3
(1)  What is Corporate Restructuring ?
(1) What is Reverse Merger ?
(11) What is Management Buy-out ?

5. Choose the correct option : 14

(1) Which of the following model of Value Based Management considers 7s
framework ?

(a) Miller Model (b) Marakon Model
(c) Alcar Model (d) McKinsey Model
(2) The acquisition of a firm in the same industry/market is called
acquisition.
(a) Vertical (b) Forward
(c) Conglomerate (d) Horizontal
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(3) Synergy includes
(a) Increase Revenue (b) Tax benefit

(c) Cost reduction (d) All of above

(4) When there is increase in the inflation rate, lender will be at
(a) Loss (b) Benefit
(c) No effect (d) All of above

(5) Stock split is
(a) Decrease in number of shares
(b) Increase in number of shares
(c) Increase in value of shares

(d) Number of shares increased but value reduced

(6) Which of the following is not reward for shareholders ?
(a) Stock dividend (b) Dividend
(c) Right shares (d) Bonus shares

(7) Net investment is
(a) Earnings before interest & tax
(b)  Gross investment plus depreciation
(c)  Gross investment minus depreciation

(d)  Operating cash flow
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1. National Company Ltd. is planning for one capital budgeting plan. It’s details are as
follows :

Investment in plant and land

Plant installation cost

Particulars

Working capital

Additional investment in plant

Profit before depreciation and tax

@
(ii)
(iii)
(iv)
)
(vi)

AH-106

Time Cash flow (% in lakhs)

to

50
10
15
15
20
40
50
40
20

The cost of plant including installation cost is I 40 lakhs.

14

At the end of project 20% in excess of original cost will be realized for land.

Life of project is 5 years.
Assume tax rate 30%.
Cost of capital is 10%.

Present value of ¥ 1 at 10%.

Year

to

4

t

Present value

1

909

.826

751

.683

621

Evaluate plan :

(I)  On the basis of Net Present Value

(2)  On the basis of discounted pay-back period.
OR
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(a)

From the following information ascertain internal rate of return : 7
(i)  Total Investment ¥ 50 lakhs

(i) Tax rate 30%

(ii1) Life of project 5 years

(iv) Every year profit before depreciation and tax ¥ 15 lakhs.

Annuity value of X 1 at the end of 5 years at different rates :

11% =3.696, 12% = 3.605, 13% =3.517, 14% = 3.433

Cost of capital of Co. is 12.5%. Give your opinion on the basis of internal rate of return.

(b) Explain ‘Pay-back period’ and ‘Rate of return on investment’ with illustration. 7
2. Attempt any two : 14
(a) Ram Company has explored possibility to implement different projects. Budget of

(b)
©

(d)

AH-106

the company is ¥ 9 lakhs. The procurement of financial resources is constraint for
the company. Company can implement any project with available minimum
investment. From the following information :

(1)  Determine profitability index of each project.
(1)) Determine optimum project mix.
Projects Required Investment Net Present Value at Specific Cost

® ®
M 3,00,000 60,000
N 9,00,000 1,05,000
O 1,50,000 48,000
P 6,00,000 75,000
Q 3,00,000 90,000

Explain Decision Tree approach with illustration.

Krishna Company has two projects. From the following information which
project should be selected on the basis of standard deviation and co-efficient of
variation ? Show calculations also.

Project Radha Project Mira

Cash Flow Probability Cash Flow Probability
(X in crore) (X in crore)

36 0.10 24 0.10

42 0.20 36 0.25

48 0.40 48 0.30

54 0.20 60 0.25

60 0.10 72 0.10

Explain the effect of inflation and taxes in capital budgeting process with
illustration.
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3. Attempt any two from the following :

(a)

(b)
©

(d)

4. ‘X’ Division of Bright Company Limited is given target to sell 2,00,000 components of

Explain the concept of Responsibility Accounting in the context of Responsibility
Centres.

Critically evaluate ROI (Return On Investment) as a tool of performance measurement.

Indian company has three different centres. The operating performance for each
centre is as follows :

Centres (in %)

Particulars
X Y Z
Sales 38,00,000 1,70,00,000 2,00,00,000
Operating Profit 4,00,000 10,00,000 20,00,000
Investment 40,00,000 1,25,00,000 1,60,00,000

Evaluate above-mentioned centres :

(1)  Using the operating profit margin percentage as the criterion, which is the
most profitable centre ?

(i1) Using the rate of return on investment as the criterion, which is the most
profitable centre ?

(1i1) Which of the above-mentioned criterion is better indicator for operating
performance measurement ? Why ?

Division X and Y are both considering investment on new projects :

Particulars Division X  Division Y
Investment 35,00,000 % 5,00,000
Net Return on the new investment % 80,000 3 55,000
Current ROI 18% 11%

The cost of capital of the company is 13%.

Determine which project should be accepted or rejected on the basis of (i) ROI
(i1) RI (Residual Income).

‘AAA’.
Information :

()
(i)

(iii)

(iv)

v)

AH-106

25% Return on average assets employed
Cost related information : Fixed Cost. 3 4,00,000
Variable Cost. ¥ 2 per unit

Average assets :  Debtors I 4,00,000

Stock ¥ 12,00,000

Plant % 4,00,000
Expected sales : ~ Units 1,40,000
Division ‘Y’ is ready to purchase remaining 60,000 units. Division ‘X’ is ready to
sell it at ¥ 5 per unit. But division ‘Y’ is ready to pay < 3.25 per unit.

14

14

14



(vi) Division ‘X’ is not ready to sell to ‘Y’ division @ ¥ 3.25 per unit, but ready to sell

1,40,000 units in market. Due to this company can reduce investment in stock by
% 1,80,000, in plant by ¥ 2,20,000 and in fixed sales expenses by T 80,000.

Evaluate proposal in the context of inter-division transfer.

(a)

OR

Kulkarni Company transfers interdivision product on the basis of cost plus return
on investment. The budget of ‘XXX’ division for the year 2015-16 was as follows : 7

Investment of ‘XXX’ Division

Fixed assets % 50,00,000
Other current assets < 30,00,000
Debtors 3 20,00,000
Annual fixed cost % 80,00,000
Per unit variable cost %15
Annual budgeted production 4,00,000 units
Rate of return on investment 30%

Determine transfer price for ‘XXX’ Division.

(b) What are objectives of transfer pricing ? Explain cost based transfer prices. 7
Select appropriate option : 14
(1) Internal rate of return

2

3)

“4)

AH-106

(a) discloses actual cost of project.

(b) discloses probable cost of project.

(c) discloses positive net present value of project.

(d) discloses zero net present value of project.

Capital Budgeting

(a) discloses historical evaluation of project.

(b) discloses past evaluation of project.

(c) discloses evaluation of future project.

(d) all of the above

Numbers of equity shares and preference shares of a company are 10,000 and
5,000 respectively. Profit from project is I 10 lakhs (after tax). From which
preference share dividend of ¥ 2,00,000 is payable. Net present value of project is
% 7,39,362. Ascertain earning per share

(a) T80 (b) T73.94

(c) 4229 (d) None of the above

What will be present value of ¥ 12,000 at 12% for four years ? Annuity value of
T 1 at 12% for four years is 3.037 and compound value is 1.574.

(a) 1,440 (b) 36,444

(c) 7,632 (d) None of the above
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(5) From which of the sources, information is obtained at the time of risk analysis for
capital budgeting ?
(a) Market survey (b) Questionnaire
(c) Pilot test (d) All of the above

(6) Which of the following factor is not non-financial factor in the context of capital
budgeting ?
(a) Organizational behaviour (b) Human and social factors

(c) Technical issues (d) Depreciation and taxes
(7)  Which formula is used to ascertain present value ?
1 1
@ Loe ® ey
1
(c) T+ )" (d) None of the above

(8) Which of the following is not internal objective of transfer price ?
(a) Better performance evaluation
(b) More motivation to managers
(c) Better cash management
(d) Better competitive position

(9) Which pricing approach is useful when the selling division is operating below

capacity ?
(a) Variable cost (b)  Standard cost
(c)  Actual full cost (d) None of the above

(10) Which method of transfer pricing is used if both divisions are free to deal either
with each other or in the external market ?

(a) Negotiated prices (b)  Cost based prices
(c) Market prices (d) Dual prices
(11) Performance evaluation under market price is considered performance
evaluation.
(a) Poor (b) Average
(c) Strong (d) Very strong
(12) A company’s ROI would generally increase when
(a) Assets increase (b)  Selling price decrease
(c) Costs decrease (d) Costs increase

(13) Division ‘A’ of a company has ROI 24% and an investment turnover of 1.6. What
is the profit margin ?

(a) 6% (b)) 15%

() 24% (d) None of the above
(14) The basic purpose of a responsibility accounting system is

(a) Budgeting (b) Motivation

(c) Authority (d) Variance analysis
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